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Answer: A 

QUESTION: 97 

Which command should be used to convert a GFS filesystem to GFS2?
 

A. gfs_update  
B. gfs2_convert 
C. gfs2_migrate 
D. ccs_migrate 

Answer: B 

QUESTION: 98 

What is the maximum number of nodes that a Red Hat Cluster Suite will support?
 

A. 16 
B. 4 
C. 32 
D. 8 

Answer: A 

QUESTION: 99 

What action does the virsh restore command perform?
 

A. It reestablishes a VM's connections to shared resources.  
B. It restarts a VM from a state file. 
C. It rescues a VM from being fenced.  
D. It reactivates a suspended VM. 

Answer: B 

QUESTION: 100 
Which command could be used to generate an ID that uniquely identifies the virtual 
machine in Xen? 

A. uuid 
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B. uuidgen 
C. xm uuid domainid 
D. openssl uuid 

Answer: B 

QUESTION: 101 
Which one of the following options represent a valid declaration of a backend server with 
HAProxy? 

A. hostserver_x 10.1.0.1:80 cookie server_x 
B. backendserver_x 10.1.0.1:80 
C. serverserver_x 10.1.0.1:80 check 
D. poolserver_x 10.1.0.1:80 

Answer: C 

QUESTION: 102 

Which solution is needed to make several servers in a network appear as one server?
 

A. pacemaker  
B. heartbeat 
C. drbd 
D. lvs 
E. clvm 

Answer: D 

QUESTION: 103 

Which O2CB mode should be used for OCFS2 integration with heartbeat?
 

A. user 
B. dlm 
C. heartbeat 
D. kernel 

Answer: A 
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QUESTION: 104 

The xm list command has returned: Name ID Mem VCPUs State Time(s) Domain00 384 
1 r 498.7 Debian 2 305 1 p 783.5 
Slack 664 1 b 313.6 
Centos 7 512 2 r 455.1 
Which one of the following statements is true about the above output? 

A. It is necessary to use thexm command to change Slack's state to running.  
B. Centosis the domain which has consumed the most CPU time. 
C. The domain with ID 2 usesparavirtualization. 
D. BothDebian and Slack require xm commands to start running.  
E. Slack is idle or waiting for I/O. 

Answer: E 
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